Quiz 2 Hw #10






Partial Results 
1. Means & Significance tests

a. Write the cell means and estimated marginal means in below (be sure to use EMMEANS to get the marginal means, do not use the marginal means from the Descriptives table)
	Community
	Marital Status
	

	
	Single
	Married
	Prev Married
	

	rural
	5.563
	5.702
	3.477
	4.914

	urban
	5.575
	5.524
	5.379
	5.493

	
	5.569
	5.613
	4.428
	


Write in the significance test results below. 

b. For the interaction   


F = 7.226  df = 2, 399    MSerror = 2.010     p = .001     r = .187
c. For the Marital Status main effect     
F = 9.920  df = 2, 399    MSerror = 2.010     p = .000     r = .218
d. For the Community main effect      
F = 8.583  df = 1, 399    MSerror = 2.010     p = .004     r = .145
2. The 2-way interaction.  We will examine and describe the pattern of the interaction using:


primary simple effect  (  Marital Status


moderator      (  Community
a. Complete the following table. Use pairwise significance tests from the appropriate EMMEANS comparison to put in <, > & = below.  
	Community(
	rural
	
	urban

	Marital (
	single vs. married
	single vs. prev.mar.
	married vs. prev.mar.
	
	single vs. married
	single vs. prev.mar.
	married vs. prev.mar.

	RH:
	
	
	>
	
	=
	
	

	pairwise  results
	
	
	>
	
	=
	
	

	Support RH: ?
	
	
	Yes
	
	Yes 
	
	


3. The main effect of Marital Status

a. Complete the following table. Use pairwise significance tests from the appropriate EMMEANS comparison to put in <, > & = below.  
	
	single vs. married
	single vs. prev.mar.
	married vs. prev.mar.

	 RH:
	
	>
	

	 Pairwise  results
	
	>
	

	 Support RH: ?
	
	Yes
	


b. Let’s take a moment and consider the difference between Marital Status main effect based on comparing the weighted marginal means versus the estimated marginal means.  Fill in each below.

	
	single 
	married
	 prev.mar.

	Weighted marginal means (from Descriptives)
	5.569
	5.593
	4.881

	 Estimated marginal means (from EMMEANS)
	5.569
	5.613
	4.428


4. The main effect of Community
a. Complete the following table. Use pairwise significance tests from the appropriate EMMEANS comparison to put in <, > & = below.  
	
	Rural vs Urban

	 RH:
	=

	 Pairwise  results
	<

	Support RH: ?
	


b. To check if this Community main effect pattern is descriptive or misleading, we have to compare it to the Community simple effect pattern for each the Marital Status. Get the following set of simple effects pairwise comparisons to make this determination.
	Marital (
	single
	
	married
	
	prev.mar.

	Community (
	Rural vs Urban
	
	Rural vs Urban
	
	Rural vs Urban

	Pairwise  results
	
	
	
	
	<


c. Let’s take a moment and consider the difference between Community main effect, based on comparing the weighted marginal means versus the estimated marginal means.  Fill in each below.

	
	rural 
	urban

	Weighted marginal means (from Descriptives)
	5.742
	5.531

	 Estimated marginal means (from EMMEANS)
	4.914
	5.493


